Instruction Leaflet ILO40017EN

Effective May 2018
Supersedes May 2014

Flange Kit Installation

Instruction Leaflet
Montageanweisung
Notice d’installation
Instrucciones de montaje
Istruzioni per il montaggio

2R

Montagehandleiding
Montagevejledning
Odnyieg eykardoTaong
Monteringsanvisning

Electric Current! Danger to Life!

MHCTpYyKUMA NO MOHTaxy

Instrucoes de montagem

Asennusohje Instrukcja montazu
Navod k montazi Navodila za montazo
Paigaldusjuhend Navod na montaz

Szerelési utasitas
Montazas instrukcija
Montavimo instrukcija

MOHTaXHM MHCTPYKLUUK
Instructiuni de montaj

Only skilled or instructed persons may carry out the following operations.

Lebensgefahr durch elektrischen Strom!
Nur Elektrofachkrafte und elektrotechnisch unterwiesene Personen
durfen die im Folgenden beschriebenen Arbeiten ausfiihren.

@ Tension électrique dangereuse !
Seules les personnes qualifiées et averties doivent exécuter les
travaux ci-aprés.

jCorriente eléctrica! jPeligro de muerte!
El trabajo a continuacién descrito debe ser realizado por personas
cualificadas y advertidas.

® Tensione elettrica: Pericolo di morte!

Solo persone abilitate e qualificate possono eseguire le operazioni di
seguito riportate.

@ R
R N RS2 il Zri N Rk T R A TAE.

@ AnekTpuyeckun Tok! OnacHo AnNA Xu3Hu!

Tonbko cneuuanucTbl N NPOUHCTPYKTUPOBaHHbIE UL MOryT
BbINOMHATL CeAytoLLne onepawmu.

TN

Powering Business Worldwide

@ Levensgevaar door elektrische stroom!
Uitsluitelijk deskundigen in elektriciteit en elektrotechnisch
geinstrueerde personen is het toegestaan, de navolgend
beschrevene werkzaamheden uit te voeren.

Livsfare pa grund af elektrisk stram!

Kun uddannede el-installatgrer og personer der e instruerede i
elektrotekniske arbejdsopgaver, ma udfgre de nedenfor anfgrte
arbejder.

Mpoooxn, Kiviuvog nAekTpotmrAngiag!
O1 epyaaieg TToU ava@épovTal aTn oUvEXEID Ba TTPETTEN va eKTEAOUVTAI
HOVO aTTO NAEKTPOAGYOUG Kal NAEKTPOTEXVITEG.

Perigo de vida devido a corrente eléctrica!
Apenas electricistas e pessoas com formagao electrotécnica podem
executar os trabalhos que a seguir se descrevem.

@ Livsfara genom elektrisk strom!
Endast utbildade elektriker och personer som undervisats i
elektroteknik far utféra de arbeten som beskrivs nedan.

@ Hengenvaarallinen jannite!
Vain péatevat sahkdasentajat ja opastusta saaneet henkil6t saavat
suorittaa seuraavat tyot.

EATON www.eaton.com 1



Instruction Leaflet IL0O40017EN
Effective May 2018

@ Nebezpeci urazu elektrickym proudem!

Nize uvedené prace sméji provadét pouze osoby s elektrotechnickym
vzdélanim.

Eluohtlik! Elektrilodgioht!

Jargnevalt kirjeldatud toid tohib teostada ainult elektriala spetsialist v6i
elektrotehnilise instrueerimise I&binud personal.

@ Eletveszély az elektromos aram révén!

Csak elektromos szakemberek és elektrotechnikadban képzett személyek
végezhetik el a kovetkezdkben leirt munkakat.

@ Elektriska strava apdraud dzivibu!
Talak aprakstitos darbus drikst veikt tikaielektrospecialisti un darbam ar
elektrotehniskam ekartam instruétas personas!

® Pavojus gyvybei dél elektros srovés!

Tik elektrikai ir elektrotechnikos specialistai gali atlikti Zemiau aprasytus
darbus.

FR1-FR4

Flange Kit Contents—FR1

1 Flange, top

2 Flange, bottom
3 Flange, side

4 Screws (M3x8)
5 Screws (M4x10)
6 Spacer plate

7 Seal strip

2 EATON www.eaton.com

Flange Kit Installation

Porazenie pradem elektrycznym stanowi zagrozenie

dla zycia!
Opisane ponizej prace moga przeprowadzac tylko wykwalifikowani elektrycy
oraz osoby odpowiednio poinstruowane w zakresie elektrotechniki.

@ Zivljenjska nevarnost zaradi elektri¢nega tokal!
Spodaj opisana dela smejo izvajati samo elektrostrokovnjaki in elektrotehni¢no
poucene osebe.

@ Nebezpecenstvo ohrozenia zivota elektrickym priudom!

Prace, ktoré su nizSie opisané, smu vykonavat’ iba elektroodbornici a osoby s
elektrotechnickym vzdelanim.

OnacHoCT 3a XXMBOTa OT eneKkTpuyecku Tok!

OnepauMMTe, onucaHu B cnegeawmnTte pasgenu, Morat ga ce n3sbpLliBaTt camo
OT CneunanmncTuU-enekKTPoTeEXHNLUN U MHCTPYKTUPaH eTEeKTPOTEXHUYECKU
nepcoHarn.

Atentie! Pericol electric!

Toate lucrarile descrise trebuie efectuate numai de personal de specialitate
calificat si de persoane cu cunostiinte profunde in electrotehnica.

Flange Kit Contents—FR2

BFTITTE
@
@ e
Eﬁj
@Eﬁj

1 Flange, top/bottom
2 Flange, side

3 Screws (M4x8)

4 Spacer plate

5 Seal strip



Flange Kit Installation Instruction Leaflet [LO40017EN
Effective May 2018

Flange Kit Contents—FR3 Flange Kit Contents—FR4
- v
Il ]
o N
o|®@
@ @
° o
Q
' L
1 Flange, top/bottom \
2 Flange, side 0
3 Screws (M4x10) o
4 Spacer plate
5 Seal strip -
1 Flange, top/bottom
2 Flange, side
3 Screws (M4x10)
4 Spacer plate
5 Seal strip
Manuals
=

MNO040002EN Installation Manual

EATON www.eaton.com 3



Instruction Leaflet ILO40017EN Flange Kit Installation
Effective May 2018

Mounting—Montaje —Montage —Montaggio — Montering — Tomro8éTnon—Montagem — Asennus —
Montaz —Paigaldamine — Felszerelése —Montaza— Montavimas — Montaz—Montaza— MoHTax —
Montarea—MoHTax— %3

Step 1 Step 3

Remove the A-cover by loosening the fixing screws. Remove the Attach the top flange with two screws (FR1: M3x8, FR2: M4x8,
conduit plate as well as the four fixing screws. (For FR2, two of these ~ FR3 and FR4: M4x10).

screws will be used for next step.) Attach the A-cover to the middle
chassis by tightening the fixing screws.

Step 2 Step 4
Attach the bottom flange with two screws (FR1: M3x8, FR1, FR3: Attach the side flange to the top and bottom flange with
FR2-FR4: M4x10). four M4x10 screws.

FR2: Attach the side flange to the top and bottom flange with four
M4x8 screws.

FR4: Attach the side flange to the top and bottom flange and middle
chassis with eight M4x10 screws.

4 EATON www.eaton.com



Flange Kit Installation

Step 5

Stick the seal strips along the four edges of the flange mounting
plate.

Gaps are not allowed to exist at the seal strip joints. The seal strips
can be replaced by other sealing materials with UL® 50 certification.

The opening dimensions on the flange mounting plate should follow
recommended dimensions.

Step 6

Instruction Leaflet IL0O40017EN
Effective May 2018

Seal
- Strip

N

Flange Mounting Plate

Insert the drive together with the flange kits into the flange mounting plate.

AN

Flange Mounting Plate

Step 7

Lock the drive to the flange mounting plate with 10-32 self-tapping
screws (FR1: 8 pcs, FR2 and FR3: 10 pcs, FR4: 12 pcs).

EATON www.eaton.com 5



Instruction Leaflet IL0O40017EN
Effective May 2018

FR5

Flange Kit Contents—FR5

®FFee
©OFTITITIFG

———
@D
———

NO O wWwN -

Flange Kit Installation

Manuals

=

MNO040002EN Installation Manual

Flange, top
Flange, bottom
Flange, left
Flange, right
Screws (M4x10)
Screws (Mbx10)
Seal strip

Mounting—Montaje—Montage —Montaggio —Montering — Tomro8éTnon—Montagem — Asennus —
Montaz —Paigaldamine —Felszerelése —Montaza— Montavimas —Montaz— Montaza— MoHTax—

Montarea—MoHTax— %3

Step 1
Remove the A-cover from the drive.

6 EATON www.eaton.com

Step 2
Remove the control wire conduit plate from the drive.




Instruction Leaflet ILO40017EN

Flange Kit Installation

Effective May 2018

Step 5

Step 3

Attach the top flange and bottom flange with four M4x10 screws.

Remove the power wire conduit plate from the drive.

Attach the side flange to the top and bottom flange and middle

chassis with ten M5x10 screws.

d

T

Step 4

Remove the extend box from the drive.

EATON www.eaton.com



Instruction Leaflet ILO40017EN Flange Kit Installation
Effective May 2018

Step 6 Step 9

Attach the A-cover back to the drive. Attach the drive to the flange mounting plate with 12 inch size
1/4-20 self-tapping screws.

(M—e,
ol o ol
-
A
e L
= ~O—
o (]
\0 T e
< =
1]
Step 7

Same as Step 5 of FR1-FR4.

Step 8
Same as Step 6 of FR1-FR4.

Eaton

1000 Eaton Boulevard
Cleveland, OH 44122
United States
Eaton.com

© 2014 Eaton

A All Rights Reserved Eaton is a registered trademark.
m . Printed in USA

Publication No. ILO40017EN / 215270 All other trademarks are property
Powering Business Worldwide May 2018 of their respective owners.





